p——

.

<U3UUSULh <UL rUMESNRE-3UL
MESUUUL GUUUNFSLELE WNURSE

p. Bpluub 27 unjdpbph 2018p.
nrnenkyu hd 038502-2

UMy Jsurnabk UresLULEP bLERULL USL SNh3L8h drU UPSGLULE FLELNk UUURL
£¢ MY hpw|wpwbwlwl Jupgnipwh hwplwnhp quiinuiubph puduh qiuwdnp dwutiwgbin LUdEnpujuty,
fwubwlgmpyudp tnhju pwduh 1-hu Yuwpgh dwubwgbn £ <wlnpjuth, hwdwswi €€ M nufuwguhh
27.10.2018@. phy U< 038502 hwbduwpwpwgph b munbbwuhpbind hwpl Jfwpnnh hwpljughls gnpédp, phy
50122780 upnigdwb wlwp Wnekpp.
MuUrascsh
Cunfwdugt hwplywiht dwpdund wnlw whsbwlwl hwadh pwpnh nduisbph <MULPSPU US> UMC-h (&L
00088897, whn. gpuhiglwl hwiwp' 264.110.07091, hwughk® p.bplwh, L. Pwhwqui thon., 21/2-9) Yopwpbpjuw)
28.09.2018p. £€ MbU-h Ynndhg Yuwjwgyky £ 17.11.2015p. phy 50122780 unmgdwl wlunp, hwiwhwi nph
pllbpnipywl sywnwpws hwplught wwpowdnepoypniip uadk) £ 6.429.112 ppwd Awunp’ 1.581.460 npuwd,
wnyd* 1.605.995 npuwd, mniquiip® 3.241.657 npuwd/:
26.11.2018p. ppnipqwdp 17.11.2015p. phy 50122780 unnigiwl winh zpgwiwlubpnud shunwpijwd huwpljuyhb
wwpuwynpmntip Gugqdnud £ 6.429.112 gpud:
££ hwplywjht opbuugpph 431-pn honwéh 2-pn dwup 1-ht L 2-pp Yenbph huwdwdw <MULPSCLL WPS= UTC-h
puwitiljught hwzhubpad gpuiwlwt dhengubph pugwlwmppub hbnluwbipny wihpwdbyn £ nEjwywpbpny <<
Cwpljujhts opbtiugpph 431-py hanuwsh 2-pn dwup 3-pr Yanng wpgbjwp Yhpunby wpgbpuuph Bupulw w) gatph
U
dbpngpyuih hhdwl Jpw, nbljunjwpdbind €€ hwplwjht opbuugpph 429-pn 430-pn L 431-pn hnnwétibpny’
nrnesshp
1.Upghpwip pukp <MULBSPU UPS> UMC-ht (£4<£°00088897) wwinlwiinn wpgbjunpiwb Gupwlw wy) gnipp
6.429.112 npwdh swhny;
2. Lpwl wpghijb) wbophbby, whpwwbnb, oquuandl) wpgbjunpyud wy| gnypp:
3. Npnpdwl wwwéky dbl opjuw dwdljbunud nnupl ££ NT BN, << uaum Lndphwk, ££ MY dwpuwhl
swnwjmpjnit b <MULRSPU UMS> UMC-hl:
4.Upgbjwp gubnt dwuhl nprgnuip wwpnwnhp £ papnp wbnwlwt dwpdhtitbph, nbnujw hupbiwljwnwfwpdwi
Gwpdhttbph wwonnbwnwp whdwbg, Ywqiwlbpynpmutph n Shahlwlwt widwlg hwiwp L Gupwlw £
Yunwpdwb Cwjwunwih Swipwybnnput wipnng nwpwspnul:
5. Unyb npnanudp Yupnn & pannpwplyby hwplught dwpdpte /Epluniugw dwdlbinnud/ ud £€ Jupswlwb
nunwpwl: Apnadwl wpnwnwnwlw Gupgny pannpwplnuip, hwiwswt €€ hwplwiht opbuugpph 432-pn
hnntwéh 5-pn dwuh, sh Yuwubglnud npnadwl funwpnuip:

Unyt npngnuip unwbwne wwhhg Hnip bwjuwggnipwguws bp wpgbiunpiwé wy) gnypp Juintibin:, owmwpkin,
pwpglbnt ljuwd wuophuwpwp dkY niphoht hwbatbne gypnud Jupswlwb Yud ppliwlwl wjwenwufuwinu ey nuzjub

bupwplybint Jwuhl:
LU pupwt C% W ; ) \ ‘%:7{_-_,

Wini )
Jutnnpwgpnigniip’ = ImppwgpniEniup/

uinwgw npnydwi 0kl ophliwl .
Juinnpwgpni@mip/ hwply Jwpnn/




